77. Fang had 5 times as many bones in his doghouse
as Spike. After Fang gave Spike 16 bones, they each
had the same number of bones. How many bones did
Fang have at the start?

Fang had bones at the start.
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78. The Ant Family had a reunion. Aunt Annie Ant is 35 years older than
her nephew Arnie. Aunt Annie is also 5 years younger than her sister

Annabelle. Their combined age is 105 years old. How old is Aunt Annie?

Aunt Annie is years old.
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79. Stanley Steambucket cut out 5,000 coupons to use for shopping.
Somehow he lost 600 of them on the bike ride to Shopless.
He used only 1/4 of the coupons he had left in the store.
How many coupons did he use?

He used coupons.
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80. The Crabtree College Knock Hockey Team was

going to a game against Stinkbush University. = hee
They used 2 buses. One bus had 3 times as many =
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students as the other bus. After 10 students were
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moved from one bus to the other, the number of students was the same
in both buses. How many students were in both buses altogether?

There were students in both buses altogether.
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